
A Friend in Need....

Your friend is upset. She just got her exam on series back, and she lost points on every
problem! She looked at the solutions, but still doesn’t understand why her answers are
wrong. Help your friend find her mistakes, and learn how to do the problems right before
the final.

A) Find and circle an algebraic error or false statement in each problem.
B) Explain why what you circled is wrong. Come up with a counterexample if you can to
help your friend.
C) Once you have found all the errors, complete the problems correctly on a separate sheet.

Every problem here IS wrong for some reason. If you can’t find an error right away, move
on to the next problem and come back later.

What do you think are the three ’worst’ mistakes, that demonstate your friend really
doesn’t understand Chapter 10? Circle the numbers of these problems.

What should your friend do to get caught up?
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Each of these series is a convergent p-series, so their sum converges.
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